

Pay Estimate Created Date: November 15, 2023

Progress Estim	ate Number	Contract ID 230421-Co Prime Contractor Emery Sap		Pay Period Start Novemb Pay Period End Novemb		Order Amour	nt \$210,792.30
Approval Date							By User
November 15, 2023		Generat	ted and Approve	ed (and should be considere	d Draft) at the Project Offi	ice Level by	degrow1
November 15, 2023		Reviewed ar	nd Approved (ar	nd should be considered Dr	aft) at the Resident Engine	eer Level by	rileyr1
November 17, 2023			Reviewe	ed and Approved at the Cer	ntral Office Controllers Offi	ice Level by	ramses1
Original Comp	oletion Date	Current Completion D	ate Ac	tual Completion Date	% of Current Co	ntract Amour	nt Complete
August 30	0, 2024	August 30, 2024				94.87%	

	Contract Informational Dat	es	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	May 3, 2023	May 3, 2023	
Letting Date	April 21, 2023	April 21, 2023	
Notice to Proceed Date	June 5, 2023	June 5, 2023	
Open to Traffic Date			
Work Began Date	August 7, 2023	August 7, 2023	

Contract Total Pay	For Estimate No. 9				
		This Estimate	Previous	To Date	
230421-C09					
	Total Posted Items Pay	\$66,444.94	\$3,382,599.68	\$3,449,044.62	
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$18,306.21	\$36,058.33	\$54,364.54	
			\$3,418,658.01	\$3,503,409.16	
Contract Total Paya	ble This Estimate:	\$84,751.15			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3P3168	0180	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS $$	LF	\$1.100	2,745.4	\$3,019.94
Project J3F	23168 - Tot	al					\$3,019.94
J3P3182	0330	2079909	MISC.LINEAR GRADING FOR SIDEWALKS	STA	\$3,350.000	1.5	\$5,025.00
	0390	6081010	CONCRETE CURB RAMP	SQYD	\$278.000	17	\$4,726.00
	0400	6086004	CONCRETE SIDEWALK, 4 IN.	SQYD	\$172.000	83	\$14,276.00
	0490	6143013	MANHOLE FRAME AND COVER, TYPE 3	EA	\$2,300.000	1	\$2,300.00
	0600	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$22.000	54	\$1,188.00
	5102	2022010	REMOVAL OF IMPROVEMENTS	LS	\$1,800.000	1	\$1,800.00
	5103	2063000	CLASS 3 EXCAVATION	CUYD	\$17.000	100	\$1,700.0
	5104	2071000	LINEAR GRADING CLASS 1	STA	\$2,000.000	1.5	\$3,000.0
	5105	6099903	MISC.Concrete Curb and Gutter	LF	\$185.000	11	\$2,035.00
	5106	6181000	MOBILIZATION	LS	\$6,750.000	1	\$6,750.00
	5107	7309903	MISC.HDPE Pipe Culvert (24 IN)	LF	\$105.000	135	\$14,175.00
	5108	7319902	MISC.Drop Inlet (5 FT x 5 FT)	EA	\$6,450.000	1	\$6,450.00
Project J3F	3182 - Tot	al					\$63,425.00
Overall - To	otal						\$66,444.94

Revision 3/23/2023 Page 1 of 31



Pay Estimate Created Date: November 15, 2023

Progress Estimate Number
9
Contract ID 230421-C09 Pay Period Start November 2, 2023 Original Contract Amount \$3,424,641.05
Pay Period End November 15, 2023 Original Contract Amount \$210,792.30
Current Contract Amount \$3,635,433.35

		nents This Estimate							
Contract	Adjustn	, ,,		ered By	Comments	Time Units	Rate	-	Amount
		4683 ABIROther Contra Adjustme		degrow1	IRI Summary Worksheets saved to eProjects.				\$18,306.21
verall -	Total								\$18,306.21
	A alia4		ted in the Inc	entive, Disin	centive, Liquidated Dama	ages or Other Contra	ict Adjustme	nts	
<u>ie item</u>	<u>Aajustr</u>	ments This Estimate	,	,			,		
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comme	ents	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3P3168	0040	TYPE 1 AGGREGATE FOR BASE (6 IN. THICK)	Material				-3,665	\$20.00	(\$73,300.00)
	0040	TYPE 1 AGGREGATE FOR BASE (6 IN. THICK)	Material		overridding Payment Est	ayment Estimate Item due to user degrow1	3,665	\$20.00	\$73,300.00
	0060	4 IN. CONCRETE MEDIAN STRIP	Material				-10.6	\$390.00	(\$4,134.00)
	0060	4 IN. CONCRETE MEDIAN STRIP	Material		overridding Payment Est	ayment Estimate Item due to user degrow1	10.6	\$390.00	\$4,134.00
	0070	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material				-2	\$2,000.00	(\$4,000.00
	0070	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material		overridding Payment É	ayment Estimate Item due to user degrow1	2	\$2,000.00	\$4,000.00
	0100	CHANNELIZER (TRIM LINE)	Material				-75	\$26.50	(\$1,987.50
	0100	CHANNELIZER (TRIM LINE)	Material		overridding Payment É	ayment Estimate Item due to user degrow1	75	\$26.50	\$1,987.50
	0110	FLASHING ARROW PANEL	Material				-2	\$665.00	(\$1,330.00
	0110	FLASHING ARROW PANEL	Material		overridding Payment É	ayment Estimate Item due to user degrow1	2	\$665.00	\$1,330.00
	0150	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material				-14	\$28.00	(\$392.00
	0150	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material		overridding Payment E	ayment Estimate Item due to user degrow1	14	\$28.00	\$392.00
	0160	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	Material				-328	\$22.10	(\$7,248.80)
	0160	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24	Material		This adjustment offset generated Material Pa Adjustment (0031)		328	\$22.10	\$7,248.80

Revision 3/23/2023 Page 2 of 31



Pay Estimate Created Date: November 15, 2023

Progress Estimate Number

9

Contract ID 230421-C09 Pay Period Start November 2, 2023 Original Contract Amount \$3,424,641.05
Prime Contractor Emery Sapp & Sons, Inc. Pay Period End November 15, 2023 Original Contract Amount \$210,792.30
Current Contract Amount \$3,635,433.35

oject mber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3168		IN. YELLOW			overridding Payment Estimate Exception 28 on the current Payment Estimate.			
	0170	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-2	\$386.00	(\$772.00
	0170	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0032) due to user degrow1 overridding Payment Estimate Exception 30 on the current Payment Estimate.	2	\$386.00	\$772.00
	0180	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-6,181	\$1.10	(\$6,799.10
	0180	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0033) due to user degrow1 overridding Payment Estimate Exception 35 on the current Payment Estimate.	6,181	\$1.10	\$6,799.10
	0190	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-3,720	\$1.10	(\$4,092.00
	0190	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0034) due to user degrow1 overridding Payment Estimate Exception 39 on the current Payment Estimate.	3,720	\$1.10	\$4,092.00
	0220	SEEDING - COOL SEASON GRASSES	Material			-0.8	\$5,520.00	(\$4,416.00
	0220	SEEDING - COOL SEASON GRASSES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0035) due to user degrow1 overridding Payment Estimate Exception 41 on the current Payment Estimate.	0.8	\$5,520.00	\$4,416.00
	0240	SILT FENCE	Material			-3,639	\$3.30	(\$12,008.70
	0240	SILT FENCE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0036) due to user degrow1 overridding Payment Estimate Exception 45 on the current Payment Estimate.	3,639	\$3.30	\$12,008.70
	0260	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material			-1,638	\$36.00	(\$58,968.00
	0260	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0037) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	1,638	\$36.00	\$58,968.00
	0290	2 IN. PSST POST - 12 GA.	Material			-11	\$30.50	(\$335.50
	0290	2 IN. PSST POST - 12 GA.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0038) due to user degrow1 overridding Payment Estimate Exception 46 on the current Payment Estimate.	11	\$30.50	\$335.5
	0310	MISC.	Material			-1	\$386.00	(\$386.0
	0310	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0039) due to user degrow1	1	\$386.00	\$386.00

Revision 3/23/2023 Page 3 of 31



Pay Estimate Created Date: November 15, 2023

Progress Estimate Number
9 Contract ID 230421-C09 Pay Period Start November 2, 2023 Original Contract Amount \$3,424,641.05
Pay Period End November 15, 2023 Original Contract Amount \$210,792.30
Current Contract Amount \$3,635,433.35

ect ber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
168					overridding Payment Estimate Exception 47 on the current Payment Estimate.			
182	0380	TACK COAT	Material			-8,292	\$3.00	(\$24,876.00
	0380	TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	8,292	\$3.00	\$24,876.00
	0390	CONCRETE CURB RAMP	Material			-17	\$278.00	(\$4,726.00
	0390	CONCRETE CURB RAMP	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	17	\$278.00	\$4,726.00
	0400	CONCRETE SIDEWALK, 4 IN.	Material			-83	\$172.00	(\$14,276.00
	0400	CONCRETE SIDEWALK, 4 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	83	\$172.00	\$14,276.00
	0410	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material			-2	\$2,000.00	(\$4,000.00
	0410	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	2	\$2,000.00	\$4,000.00
	0420	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-176	\$1,000.00	(\$176,000.00
	0420	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	176	\$1,000.00	\$176,000.00
	0460	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material			-430	\$8.00	(\$3,440.00
	0460	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	430	\$8.00	\$3,440.00
	0490	MANHOLE FRAME AND COVER, TYPE 3	Material			-1	\$2,300.00	(\$2,300.00
	0490	MANHOLE FRAME AND COVER, TYPE 3	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	1	\$2,300.00	\$2,300.00
	0500	CONSTRUCTION SIGNS	Material			-235	\$10.00	(\$2,350.00
	0500	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	235	\$10.00	\$2,350.00

Revision 3/23/2023 Page 4 of 31



Pay Estimate Created Date: November 15, 2023

oject mber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3182	0510	ADVANCED WARNING RAIL SYSTEM	Material			-2	\$50.00	(\$100.00)
	0510	ADVANCED WARNING RAIL SYSTEM	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.	2	\$50.00	\$100.00
	0520	CHANNELIZER (TRIM LINE)	Material			-150	\$26.00	(\$3,900.00)
	0520	CHANNELIZER (TRIM LINE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user degrow1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	150	\$26.00	\$3,900.00
	0530	TYPE III MOVEABLE BARRICADE	Material			-12	\$160.00	(\$1,920.00)
	0530	TYPE III MOVEABLE BARRICADE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	12	\$160.00	\$1,920.00
	0540	FLASHING ARROW PANEL	Material			-2	\$1,100.00	(\$2,200.00)
	0540	FLASHING ARROW PANEL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 21 on the current Payment Estimate.	2	\$1,100.00	\$2,200.00
	0550	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material			-2	\$3,315.00	(\$6,630.00)
	0550	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user degrow1 overridding Payment Estimate Exception 23 on the current Payment Estimate.	2	\$3,315.00	\$6,630.00
	0560	TEMPORARY LONG-TERM RUMBLE STRIPS	Material			-4	\$1,325.00	(\$5,300.00)
	0560	TEMPORARY LONG-TERM RUMBLE STRIPS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 24 on the current Payment Estimate.	4	\$1,325.00	\$5,300.00
	0600	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material			-288	\$22.00	(\$6,336.00)
	0600	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment Estimate Exception 25 on the current Payment Estimate.	288	\$22.00	\$6,336.00
	0610	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	Material			-662	\$24.50	(\$16,219.00)
	0610	PREFORMED THERMOPLASTIC	Material		This adjustment offsets the original system- generated Material Payment Estimate Item	662	\$24.50	\$16,219.00

Revision 3/23/2023 Page 5 of 31



Pay Estimate Created Date: November 15, 2023

Progress Estimate Number
9

Contract ID 230421-C09 Pay Period Start November 2, 2023 Original Contract Amount \$3,424.641.05
Prime Contractor Emery Sapp & Sons, Inc. Pay Period End November 15, 2023 Original Contract Amount \$210,792.30
Current Contract Amount \$3,635,433.35

ect ber	Line No.	Item Description	Adjustment Type	Other Item Adjustment	Comments	Adjustment Quantity	Line Item Adjustment	Adjustment amount
182		PAVEMENT MARKING, 24 IN. YELLOW		Туре	Adjustment (0016) due to user degrow1 overridding Payment Estimate Exception 27 on the current Payment Estimate.		Unit Price	
	0620	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-28	\$310.00	(\$8,680.0
	0620	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0017) due to user degrow1 overridding Payment Estimate Exception 29 on the current Payment Estimate.	28	\$310.00	\$8,680.0
	0630	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	Material			-4	\$276.00	(\$1,104.0
	0630	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0018) due to user degrow1 overridding Payment Estimate Exception 31 on the current Payment Estimate.	4	\$276.00	\$1,104.0
	0640	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	Material			-18	\$83.00	(\$1,494.0
	0640	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0019) due to user degrow1 overridding Payment Estimate Exception 32 on the current Payment Estimate.	18	\$83.00	\$1,494.0
	0650	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-23,526	\$0.20	(\$4,705.2
	0650	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0020) due to user degrow1 overridding Payment Estimate Exception 33 on the current Payment Estimate.	23,526	\$0.20	\$4,705.2
	0660	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-30,652	\$0.31	(\$9,502.1
	0660	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0021) due to user degrow1 overridding Payment Estimate Exception 37 on the current Payment Estimate.	30,652	\$0.31	\$9,502.1
	0730	CURB INLET CHECK	Material			-1	\$331.00	(\$331.0
	0730	CURB INLET CHECK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0022) due to user degrow1 overridding Payment Estimate Exception 43 on the current Payment Estimate.	1	\$331.00	\$331.0
	0750	SILT FENCE	Material			-175	\$5.50	(\$962.5
	0750	SILT FENCE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0023) due to user degrow1 overridding Payment Estimate Exception 44 on the current Payment Estimate.	175	\$5.50	\$962.5

Revision 3/23/2023 Page 6 of 31



Pay Estimate Created Date: November 15, 2023

					Original Contract Amount	
٩	Prime Contractor	Emery Sapp & Sons, Inc.	Pay Period End	November 15, 2023	Net Change Order Amount	\$210,792.30
3					Current Contract Amount	\$3,635,433.35

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3P3182	0760	MGS GUARDRAIL	Material			-3,088	\$30.40	(\$93,875.20)
	0760	MGS GUARDRAIL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0024) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	3,088	\$30.40	\$93,875.20
Total								\$0.00

Revision 3/23/2023 Page 7 of 31



					C	Contract Project Information	n
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J3P3168	FAF 65-3(113)	Grading and pavement	65	SALINE	at the intersection of Morrov	w St in Marshall	
J3P3182	J3P3182	Resurface and ADA	65	SALINE	from Route 240 to Bus. 65 i	in Marshall	
Totals by .	Job Numbe	rs					
J3P3168		d Item Pay Item Adjustmo		Item Pay	This Estimate \$3,019.94 \$0.00 \$3,019.94	Previous \$890,377.36 \$0.00 \$890,377.36	To Date \$893,397.30 \$0.00 \$893,397.30
					\$0.00 \$0.00 \$0.00 \$4,642.43	\$0.00 \$0.00 \$0.00 \$9,235.58	\$0.00 \$0.00 \$0.00 \$13,878.01
J3P3182		d Item Pay Item Adjustmo		Item Pay	This Estimate \$63,425.00 \$0.00 \$63,425.00	Previous \$2,492,222.32 \$0.00 \$2,492,222.32	To Date \$2,555,647.32 \$0.00 \$2,555,647.32
					\$0.00 \$0.00 \$0.00 \$13,663.78	\$0.00 \$0.00 \$0.00 \$26,822.75	\$0.00 \$0.00 \$0.00 \$40,486.53

Revision 3/23/2023 Page 8 of 31



Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 3040163, Project Item Line Number 0040, Material Set 304016396, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 4071005, Project Item Line Number 0380, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6061060, Project Item Line Number 0760, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6061060, Project Item Line Number 0760, Material Set 606106096, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6061061, Project Item Line Number 0260, Material Set 606106196, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6061061, Project Item Line Number 0260, Material Set 606106196, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6081010, Project Item Line Number 0390, Material Set 608101096, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6083004, Project Item Line Number 0060, Material Set 608300496, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6083004, Project Item Line Number 0060, Material Set 608300496, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6086004, Project Item Line Number 0400, Material Set 608600496, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6123000A, Project Item Line Number 0410, Material Set 6123000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6123000A, Project Item Line Number 0070, Material Set 6123000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6131010, Project Item Line Number 0420, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6131015, Project Item Line Number 0460, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6143013, Project Item Line Number 0490, Material Set 614301396, Material 0614DFMNFC - Manhole Frame and Cover, Acceptance Action Generic 0614DFMNFC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6161005, Project Item Line Number 0500, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6161008, Project Item Line Number 0510, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6161025, Project Item Line Number 0520, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6161025, Project Item Line Number 0100, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6161030, Project Item Line Number 0530, Material Set 616103096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6161040, Project Item Line Number 0540, Material Set 616104096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6161040, Project Item Line Number 0110, Material Set 616104096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6161098A, Project Item Line Number 0550, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6162002, Project Item Line Number 0560, Material Set 616200296, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden

Revision 3/23/2023 Page 9 of 31



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Action Generic 0616TMTC is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6200015, Project Item Line Number 0600, Material Set 620001596, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6200015, Project Item Line Number 0150, Material Set 620001596, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6200018, Project Item Line Number 0610, Material Set 620001896, Material 1048PMPFYL - Preformed Thermoplastic Marking Tape YL, Acceptance Action Generic 1048PMPFYL is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6200018, Project Item Line Number 0160, Material Set 620001896, Material 1048PMPFYL - Preformed Thermoplastic Marking Tape YL, Acceptance Action Generic 1048PMPFYL is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6200021, Project Item Line Number 0620, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6200021, Project Item Line Number 0170, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indicat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6200024, Project Item Line Number 0630, Material Set 620002496, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6200042, Project Item Line Number 0640, Material Set 620004296, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indicat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6205901A, Project Item Line Number 0650, Material Set 6205901A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6205901A, Project Item Line Number 0650, Material Set 6205901A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6205901A, Project Item Line Number 0180, Material Set 6205901A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6205901A, Project Item Line Number 0180, Material Set 6205901A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6205902A, Project Item Line Number 0660, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 6205902A, Project Item Line Number 0660, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6205902A, Project Item Line Number 0190, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 6205902A, Project Item Line Number 0190, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 8051000A, Project Item Line Number 0220, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 8051000A, Project Item Line Number 0220, Material Set 8051000A96, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 8061007A, Project Item Line Number 0730, Material Set 8061007A96, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3182, Item 8061019, Project Item Line Number 0750, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 8061019, Project Item Line Number 0240, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 9031270A, Project Item Line Number 0290, Material Set 9031270A96, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3168, Item 9039902, Project Item Line Number 0310, Material Set 9039902, Material 0903HSXX - Highway Signing Material, Acceptance Action Generic 0903HSXX is insufficient.	Certifications received and passing tests achieved. Tests needs entered into AWP.	degrow1	Overridden

Revision 3/23/2023 Page 10 of 31



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	(uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	as Gene	rated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230421-C09	J3P3168	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$61,200.00	\$61,200.00
		0001	0020	2071000	LINEAR GRADING CLASS 1	30.20	0.00	30.20	STA	30.20	\$2,750.00	\$83,050.00
		0001	0030	2153000	SHAPING SLOPES, CLASS III	7.00	0.00	7.00	100F	7.00	\$1,460.00	\$10,220.00
		0001	0040	3040163	TYPE 1 AGGREGATE FOR BASE (6 IN. THICK)	3,665.00	0.00	3,665.00	SQYD	3,665.00	\$20.00	\$73,300.00
		0001	0050	4019905	MISC.OPTIONAL PAVEMENT	3,665.00	0.00	3,665.00	SQYD	3,665.00	\$106.00	\$388,490.00
		0001	0060	6083004	4 IN. CONCRETE MEDIAN STRIP	10.60	0.00	10.60	SQYD	10.60	\$390.00	\$4,134.00
		0001	0070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.00
		0001	0080	6161005	CONSTRUCTION SIGNS	349.00	0.00	349.00	SQFT	0.00	\$10.00	\$0.00
		0001	0090	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	0.00	\$50.00	\$0.00
		0001	0100	6161025	CHANNELIZER (TRIM LINE)	75.00	0.00	75.00	EA	75.00	\$26.50	\$1,987.50
		0001	0110	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$665.00	\$1,330.00
		0001	0120	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION	2.00	0.00	2.00	EA	0.00	\$3,312.00	\$0.00
					INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED							
		0001	0130	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$143,000.00	\$143,000.00
		0001	0140	6191000	PAVEMENT EDGE TREATMENT	3,348.00	0.00	3,348.00	LF	0.00	\$3.00	\$0.00
		0001	0150	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	14.00	0.00	14.00	LF	14.00	\$28.00	\$392.00
		0001	0160	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	328.00	0.00	328.00	LF	328.00	\$22.10	\$7,248.80
		0001	0170	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	2.00	\$386.00	\$772.00
		0001	0180	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	6,181.00	0.00	6,181.00	LF	6,181.00	\$1.10	\$6,799.10
		0001	0190	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,720.00	0.00	3,720.00	LF	3,720.00	\$1.10	\$4,092.00
		0001	0200	6207001	PAVEMENT MARKING REMOVAL	5,768.00	0.00	5,768.00	LF	0.00	\$1.10	\$0.00
		0001	0210	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	5.00	0.00	5.00	EA	0.00	\$110.00	\$0.00
		0001	0220	8051000A	SEEDING - COOL SEASON GRASSES	0.80	0.00	0.80	ACRE	0.80	\$5,520.00	\$4,416.00
		0001	0230	8061016	SEDIMENT REMOVAL	36.00	0.00	36.00	CUYD	0.00	\$38.65	\$0.00
		0001	0240	8061019	SILT FENCE	3,639.00	0.00	3,639.00	LF	3,639.00	\$3.30	\$12,008.70
		0001	0250	8064138	TYPE 2D EROSION CONTROL BLANKET	1,976.00	0.00	1,976.00	SQYD	1,976.00	\$2.20	\$4,347.20
		0010	0260	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,638.00	0.00	1,638.00	LF	1,638.00	\$36.00	\$58,968.00
		0010	0270	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6.00	0.00	6.00	EA	6.00	\$3,650.00	\$21,900.00
		0040	0280	9031010	CONCRETE FOOTINGS, EMBEDDED	0.10	0.00	0.10	CUYD	0.10	\$7,175.00	\$717.50
		0040	0290	9031270A	2 IN. PSST POST - 12 GA.	11.00	0.00	11.00	LF	11.00	\$30.50	\$335.50
		0040	0300	9031274	CONCRETE POST ANCHOR FOR 2 IN. PSST 7 GA.	1.00	0.00	1.00	EA	1.00	\$303.00	\$303.00
		0040	0310	9039902	MISC.SIGN RELOCATION	1.00	0.00	1.00	EA	1.00	\$386.00	\$386.00
	Project J	3P3168 - To	otal Value	Posted to E	Date as of Report Generated Date							\$893,397.30
	J3P3182	0001	0320	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$15,320.00	\$15,320.00
		0001	0330	2079909	MISC.LINEAR GRADING FOR SIDEWALKS	1.50	0.00	1.50	STA	1.50	\$3,350.00	\$5,025.00
		0001	0340	2153000	SHAPING SLOPES, CLASS III	6.00	0.00	6.00	100F	6.00	\$1,214.00	\$7,284.00
		0001	0350	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	4,186.00	0.00	4,186.00	TONS	3,435.80	\$114.00	\$391,681.20
		0001	0360	4030105	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125C MIX)	6,210.00	0.00	6,210.00	TONS	6,210.00	\$119.00	\$738,990.00
		0001	0370	4039910	MISC.ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP190C MIX)	496.00	331.50	827.50	TONS	827.50	\$194.00	\$160,535.00
		0001	0380	4071005	TACK COAT	9,441.00	0.00	9,441.00	GAL	8,292.00	\$3.00	\$24,876.00
		0001	0390	6081010	CONCRETE CURB RAMP	17.00	0.00	17.00	SQYD	17.00	\$278.00	\$4,726.00
		0001	0400	6086004	CONCRETE SIDEWALK, 4 IN.	83.00	0.00	83.00	SQYD	83.00	\$172.00	\$14,276.00
			0410	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.00
		0001	0410									
		0001	0420	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	176.00	0.00	176.00	SQYD	176.00	\$1,000.00	\$176,000.00

Revision 3/23/2023 Page 11 of 31



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

vote. Posted Q			es ale b	aseu on K	eport Generated date and can differ from the posted am			Louinate we				
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230421-C09	J3P3182	0001	0440	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	18.00	0.00	18.00	SQYD	0.00	\$1.00	\$0.00
		0001	0450	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	792.00	0.00	792.00	LF	792.00	\$18.50	\$14,652.00
		0001	0460	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	528.00	0.00	528.00	EA	430.00	\$8.00	\$3,440.00
		0001	0470	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	12.00	0.00	12.00	TONS	0.00	\$368.00	\$0.00
		0001	0480	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	175.00	0.00	175.00	SQYD	175.00	\$120.00	\$21,000.00
		0001	0490	6143013	MANHOLE FRAME AND COVER, TYPE 3	1.00	0.00	1.00	EA	1.00	\$2,300.00	\$2,300.00
		0001	0500	6161005	CONSTRUCTION SIGNS	235.00	0.00	235.00	SQFT	235.00	\$10.00	\$2,350.00
		0001	0510	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$50.00	\$100.00
		0001	0520	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	150.00	\$26.00	\$3,900.00
		0001	0530	6161030	TYPE III MOVEABLE BARRICADE	12.00	0.00	12.00	EA	12.00	\$160.00	\$1,920.00
		0001	0540	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,100.00	\$2,200.00
		0001	0550	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	2.00	\$3,315.00	\$6,630.00
		0001	0560	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$1,325.00	\$5,300.00
		0001	0570	6169902	MISC.ADA COMPLIANT MOVEABLE BARRICADE	2.00	0.00	2.00	EA	2.00	\$83.00	\$166.00
		0001	0580	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$265,000.80	\$265,000.80
		0001	0590	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	0600	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	288.00	0.00	288.00	LF	288.00	\$22.00	\$6,336.00
		0001	0610	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	1,000.00	0.00	1,000.00	LF	662.00	\$24.50	\$16,219.00
		0001	0620	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	30.00	0.00	30.00	EA	28.00	\$310.00	\$8,680.00
		0001	0630	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	5.00	0.00	5.00	EA	4.00	\$276.00	\$1,104.00
		0001	0640	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	20.00	0.00	20.00	EA	18.00	\$83.00	\$1,494.00
		0001	0650	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	29,408.00	0.00	29,408.00	LF	23,526.00	\$0.20	\$4,705.20
		0001	0660	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	38,315.00	0.00	38,315.00	LF	30,652.00	\$0.31	\$9,502.12
		0001	0670	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	94,710.00	0.00	94,710.00	SQYD	88,613.00	\$3.60	\$319,006.80
		0001	0680	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	622.00	-622.00	0.00	SQYD	0.00	\$42.00	\$0.00
		0001	0690	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	368.00	0.00	368.00	STA	58.70	\$26.00	\$1,526.20
		0001	0700	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	175.00	0.00	175.00	STA	29.00	\$36.00	\$1,044.00
		0001	0710	8025006	MULCHING	0.10	0.00	0.10	ACRE	0.00	\$11,040.00	\$0.00
		0001	0720	8051000A	SEEDING - COOL SEASON GRASSES	0.10	0.00	0.10	ACRE	0.00	\$11,040.00	\$0.00
		0001	0730	8061007A	CURB INLET CHECK	1.00	0.00	1.00	EA	1.00	\$331.00	\$331.00
		0001	0740	8061016	SEDIMENT REMOVAL	18.00	0.00	18.00	CUYD	0.00	\$39.00	\$0.00
		0001	0750	8061019	SILT FENCE	175.00	0.00	175.00	LF	175.00	\$5.50	\$962.50
		0010	0760	6061060	MGS GUARDRAIL	3,205.00	0.00	3,205.00	LF	3,088.00	\$30.40	\$93,875.20
		0010	0770	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	4.00	0.00	4.00	EA	4.00	\$4,360.00	\$17,440.00
		0010	0780	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	8.00	\$3,643.00	\$29,144.00
		0001	5101	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	0.00	3,829.00	3,829.00	SQYD	3,829.00	\$35.70	\$136,695.30
		0001	5102	2022010	SURFACING (GREATER THAN 3 IN. THICK) REMOVAL OF IMPROVEMENTS	0.00	1.00	1.00	LS	1.00	\$1,800.00	\$1,800.00
		0001	5103	2063000	CLASS 3 EXCAVATION	0.00	100.00	100.00	CUYD	100.00	\$17.00	\$1,700.00
		0001	5104	2071000	LINEAR GRADING CLASS 1	0.00	1.50	1.50	STA	1.50	\$2,000.00	\$3,000.00
		0001	5105	6099903	MISC.Concrete Curb and Gutter	0.00	11.00	11.00	LF	11.00	\$185.00	\$2,035.00
		0001	5106	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$6,750.00	\$6,750.00
		0001	5107	7309903	MISC.HDPE Pipe Culvert (24 IN)	0.00	135.00	135.00	LF	135.00	\$105.00	\$14,175.00

Revision 3/23/2023 Page 12 of 31



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230421-C09	J3P3182	0001	5108	7319902	MISC.Drop Inlet (5 FT x 5 FT)	0.00	1.00	1.00	EA	1.00	\$6,450.00	\$6,450.00
	Project J3	3P3182 - To	tal Value	Posted to D	Date as of Report Generated Date							\$2,555,647.32
230421-C09 Overall - Total Value Posted to Date as of Report Generated Date											\$3,449,044.62	

Revision 3/23/2023 Page 13 of 31



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J3P3168

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0180	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAINT	11/14/23	11/14/23	2,745.40	LF	120.711 - 120.901 Cont. = 2745.4					

Project: J3P3182

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0330	2079909	MISC. GRADING	11/14/23	11/14/23	1.50	STA	Vest Street Sidewalk = 1.5 stations					
0390	6081010	CONCRETE CURB RAMP	11/14/23	11/14/23	17.00	SQYD	Vest Street Sidewalk = 17 yd2					
0400	6086004	CONCRETE SIDEWALK, 4 IN.	11/14/23	11/14/23	83.00	SQYD	Vest Street Sidewalk = 83 yd2					
0490	6143013	MANHOLE FRAME AND COVER, TYPE 3	11/14/23	11/14/23	1.00	EA	Vest Street Sidewalk = 1					
0600	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	11/14/23	11/14/23	54.00	LF	Route 20 / 65 (SB Driving & SB Turning Cont.) = 54					
5102	2022010	REMOVAL OF IMPROVEMENTS	11/14/23	11/14/23	1.00	LS	Removals of existing 24" pipe/extra sidewalk = 1 LS					
5103	2063000	CLASS 3 EXCAVATION	11/14/23	11/14/23	100.00	CUYD	Vest Street Sidewalk excavation for 24 inch drainage pipe / Box Culvert replacement.					
5104	2071000	LINEAR GRADING CLASS 1	11/14/23	11/14/23	1.50	STA	Existing drainage ditch excavation to get water to drain at Vest Street.					
5105	6099903	MISC. PAVED DRAINAGE	11/14/23	11/14/23	11.00	LF	Vest Street existing curb and gutter replacement = 38 LF					
5106	6181000	MOBILIZATION	11/14/23	11/14/23	1.00	LS	Vest Street additional work.					
5107	7309903	MISC. TEMPORARY DRAINING	11/14/23	11/14/23	135.00	LF	Vest Street Pipe Replacement = 135'					
5108	7319902	MISC. MANHOLES AND DROP INLETS	11/14/23	11/14/23	1.00	EA	Vest Street new drop inlet = 1					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 14 of 31



Marcal App A	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3 Aug 6, SYSTEM 473,000.00 The adjustment offsets the original system generated Material Proyment Estimate Exception 1 on the current Peyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate Exception 1 on the current Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate Exception 1 on the current Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate Exception 1 on the current Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment Estimate (Inc.) 1, due to seed deprove Overriding Psyment (Inc.	J3P3168	0040	AGGREGATE FOR BASE (6 IN.	Material		3		SYSTEM	\$73,300.00	Estimate Item Adjustment (0010) due to user degrow1 overridding Payment
2022 SYSTEM 1973,00.000 The substream (1970) sele to user deground coverriding Peyment Estimate 2021 SYSTEM 1973,00.000 The substream (1984) in the original system-generated Material Peyment Estimate Support 1974,00.000 The substream (1984) in the original system-generated Material Peyment Estimate 1974 SysTem 1973,00.000 The substream (1984) in the original system-generated Material Peyment Estimate 1974 SysTem 1973,00.000 Sep 20, SYSTEM 1973,00.000			Inick)			3		SYSTEM	(\$73,300.00)	
2023 SYSTEM \$73,30,000 The adjustment officies the original system-generated Material Payment Estimate Browning to other Court Payment Estimate Engine to minimate the court of the courter Payment Estimate Engine than Adjustment (2013) due to user degroat Overstriding Payment Estimate Engine to minimate the court of the courter Payment Estimate Engine than Adjustment (1014) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1014) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1014) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than Adjustment (1013) due to user degroat Overstriding Payment Estimate Engine than						4		SYSTEM	\$73,300.00	Estimate Item Adjustment (0010) due to user degrow1 overridding Payment
Section Sect						4		SYSTEM	(\$73,300.00)	
6 Sep 30						5		SYSTEM	\$73,300.00	Estimate Item Adjustment (0013) due to user degrow1 overridding Payment
2023 Sep 30 SVSTEM (\$73,300.00)						5		SYSTEM	(\$73,300.00)	
2023 7 Cot 16, SYSTEM S73,300.00 This adjustment offsets the original system-generated Material Pyment Estimate term Adjustment (0013) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate Estimate Estimate Exception 1 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 4 on the current Payment Estimate Exception 5 on the current Payment Estimate Exception 6 on the current Payment Estimate Exception 6 on the current Payment Estimate Exception 1 on the current Pay						6		SYSTEM	\$73,300.00	Estimate Item Adjustment (0014) due to user degrow1 overridding Payment
2023 SYSTEM \$73,300.00 This adjustment (0013) due to user degrow 1 overridding Payment Estimate Exception 1 on the current Payment Estimate Exception 1 on the current Payment Estimate Estimate Exception 2 on the current Payment Estimate Exception 3 on the current Payment Estimate Extended Exception 3 on the current Payment Estim						6		SYSTEM	(\$73,300.00)	
2023 8 Nov 1, 2YSTEM 273,300.00 This adjustment effects the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 3 on the current Payment Estimate Estimate Exception 3 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 4 on the curr						7		SYSTEM	\$73,300.00	Estimate Item Adjustment (0013) due to user degrow1 overridding Payment
2023 SysTem Estimate Item Adjustment (0022) due to user degrow of overridding Payment						7		SYSTEM	(\$73,300.00)	
2023 9						8		SYSTEM	\$73,300.00	Estimate Item Adjustment (0022) due to user degrow1 overridding Payment
2023 SYSTEM SYSTEM STATE Statinate Statina						8		SYSTEM	(\$73,300.00)	
Total S0.00						9		SYSTEM	\$73,300.00	Estimate Item Adjustment (0025) due to user degrow1 overridding Payment
Material - Total						9		SYSTEM	(\$73,300.00)	
Nov 1					- Total				\$0.00	
A IN. CONCRETE Material Material				Material - To	tal				\$0.00	
MEDIAN STRIP						-	0 1 10	0)/07514		Ti. 1
8 Nov 1, SYSTEM \$4,134.00 This adjustment (0023) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate. 8 Nov 1, SYSTEM (\$4,134.00) 9 Nov 15, SYSTEM \$4,134.00 1 This adjustment offsets the original system-generated Material Payment Estimate Exception 7 on the current Payment Estimate. 9 Nov 15, SYSTEM \$4,134.00 1 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate. 9 Nov 15, SYSTEM (\$4,134.00) 1 TOTAL 1 SO.00 1 TRUCK OR TRAILER MOUNTED ATTEN (TMA) 8 Nov 1, SYSTEM \$4,000.00 1 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. 8 Nov 1, SYSTEM (\$4,000.00) 2023 9 Nov 15, SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate. 9 Nov 15, SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.		0060		Material		7		SYSTEM	\$4,134.00	Estimate Item Adjustment (0014) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0023) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.						7		SYSTEM	(\$4,134.00)	
2023 9 Nov 15, SYSTEM \$4,134.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate. 9 Nov 15, SYSTEM (\$4,134.00) - Total 50.00 Material - Total 50.00 TRUCK OR TRAILER MOUNTED ATTEN (TMA) 8 Nov 1, SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. 8 Nov 1, SYSTEM (\$4,000.00) 9 Nov 15, SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate. 9 Nov 1, SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.						8		SYSTEM	\$4,134.00	Estimate Item Adjustment (0023) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0026) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate. 9 Nov 15, SYSTEM (\$4,134.00) - Total \$0.00 Material - Total \$0.00 TRUCK OR TRAILER MOUNTED ATTEN (TMA) 8 Nov 1, 2023 SYSTEM \$4,000.00 8 Nov 1, 2023 SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. 8 Nov 1, 2023 SYSTEM \$4,000.00 9 Nov 15, SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate. 9 Nov 15, SYSTEM \$4,000.00 9 Nov 15, SYSTEM \$4,000.00 9 Nov 15, SYSTEM (\$4,000.00)						8		SYSTEM	(\$4,134.00)	
- Total S0.00 Material - Total S0.00 TRUCK OR TRAILER MOUNTED ATTEN (TMA) TMA S0.00 8 Nov 1, 2023 SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. 8 Nov 1, 2023 SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate. 8 Nov 1, 2023 SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.						9		SYSTEM	\$4,134.00	Estimate Item Adjustment (0026) due to user degrow1 overridding Payment
Material - Total \$0.00						9		SYSTEM	(\$4,134.00)	
O070 TRUCK OR TRAILER MOUNTED ATTEN (TMA) 8 Nov 1, 2023 SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. 8 Nov 1, 2023 SYSTEM (\$4,000.00) 9 Nov 15, SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.									\$0.00	
TRUCK OR TRAILER MOUNTED ATTEN (TMA) 8 Nov 1, 2023 9 Nov 15, 2023 Nov 15, 2023 1 This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate. 8 Nov 1, 2023 9 Nov 15, 2023 9 Nov 15, SYSTEM \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate Item Adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.				Material - To	tal					
TRAILER MOUNTED ATTEN (TMA) 8 Nov 1, 2023 9 Nov 15, 2023 Nov 15, 2023 SYSTEM (\$4,000.00) 9 Nov 15, 2023 Nov 15, 2023 Nov 15, 2023 SYSTEM (\$4,000.00) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.									\$0.00	
8 Nov 1, 2023 (\$4,000.00) 9 Nov 15, 2023 \$4,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate. 9 Nov 15, SYSTEM (\$4,000.00)		0070	TRAILER MOUNTED ATTEN	Material			2023			Estimate Item Adjustment (0024) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate. 9 Nov 15, SYSTEM (\$4,000.00)			()			8		SYSTEM	(\$4,000.00)	
						9		SYSTEM	\$4,000.00	Estimate Item Adjustment (0027) due to user degrow1 overridding Payment
						9		SYSTEM	(\$4,000.00)	



	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3168	0070	TRUCK OR TRAILER	Material	- Total				\$0.00	
		MOUNTED ATTEN (TMA)	Material - To	tal				\$0.00	
	0070 -	- Total						\$0.00	
	0100	CHANNELIZER (TRIM LINE)	Material		3	Aug 16, 2023	SYSTEM	\$1,987.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Paymen Estimate Exception 9 on the current Payment Estimate.
					3	Aug 16, 2023	SYSTEM	(\$1,987.50)	
					4	Sep 1, 2023	SYSTEM	\$1,987.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					4	Sep 1, 2023	SYSTEM	(\$1,987.50)	
					5	Sep 15, 2023	SYSTEM	\$1,987.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Paymen Estimate Exception 13 on the current Payment Estimate.
					5	Sep 15, 2023	SYSTEM	(\$1,987.50)	
					6	Sep 30, 2023	SYSTEM	\$1,987.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Paymen Estimate Exception 13 on the current Payment Estimate.
					6	Sep 30, 2023	SYSTEM	(\$1,987.50)	
					7	Oct 16, 2023	SYSTEM	\$1,987.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Paymer Estimate Exception 15 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$1,987.50)	
					8	Nov 1, 2023	SYSTEM	\$1,987.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user degrow1 overridding Paymer Estimate Exception 16 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$1,987.50)	
					9	Nov 15, 2023	SYSTEM	\$1,987.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user degrow1 overridding Paymer Estimate Exception 19 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$1,987.50)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0100 -	- Total						\$0.00	
	0110	FLASHING ARROW PANEL	Material		8	Nov 1, 2023	SYSTEM	\$1,330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user degrow1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$1,330.00)	
					9	Nov 15, 2023	SYSTEM	\$1,330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user degrow1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$1,330.00)	
				- Total				\$0.00	
								\$0.00	
			Material - To	tal				60.00	
	0110 -	- Total	Material - To	tal				\$0.00	
	0110 - 0150	PREF THERMO PVMT MARK, 24 IN WHIT		tal	8	Nov 1, 2023	SYSTEM	\$392.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user degrow1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
		PREF THERMO PVMT MARK, 24		tal	8		SYSTEM SYSTEM		Estimate Item Adjustment (0027) due to user degrow1 overridding Paymer
		PREF THERMO PVMT MARK, 24		tal		2023 Nov 1,		\$392.00	Estimate Item Adjustment (0027) due to user degrow1 overridding Paymer



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks						
J3P3168	0150	PREF THERMO PVMT MARK, 24	Material	- Total				\$0.00							
		IN WHIT	Material - To	tal				\$0.00							
	0150 -				-			\$0.00							
	0160	PREF THERMO PVMT MARK, 24 IN YELLOW	Material		8	Nov 1, 2023	SYSTEM	\$7,248.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user degrow1 overridding Payment Estimate Exception 25 on the current Payment Estimate.						
					8	Nov 1, 2023	SYSTEM	(\$7,248.80)							
					9	Nov 15, 2023	SYSTEM	\$7,248.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user degrow1 overridding Payment Estimate Exception 28 on the current Payment Estimate.						
					9	Nov 15, 2023	SYSTEM	(\$7,248.80)							
				- Total				\$0.00							
			Material - To	tal				\$0.00							
	0160 -	Total						\$0.00							
	0170	PREF THERMO PVMT MARK, LT/RT ARROW	Material		8	Nov 1, 2023	SYSTEM	\$772.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user degrow1 overridding Payment Estimate Exception 27 on the current Payment Estimate.						
					8	Nov 1, 2023	SYSTEM	(\$772.00)							
					9	Nov 15, 2023	SYSTEM	\$772.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user degrow1 overridding Payment Estimate Exception 30 on the current Payment Estimate.						
					9	Nov 15, 2023	SYSTEM	(\$772.00)							
			- Total		2023			\$0.00							
			Material - To	tal				\$0.00							
	0170 -	Total						\$0.00							
	0180	4 IN. YELLOW HIGH BUILD WATERBORNE	GH BUILD ERBORNE		8	Nov 1, 2023	SYSTEM	\$3,779.16	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user degrow1 overridding Payment Estimate Exception 32 on the current Payment Estimate.						
		PAINT		PAINT			8	Nov 1, 2023	SYSTEM	(\$3,779.16)					
											9	Nov 15, 2023	SYSTEM	\$6,799.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user degrow1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$6,799.10)							
				- Total				\$0.00							
			Material - To	tal				\$0.00							
	0180 -	Total						\$0.00							
	0190	6 IN. WHITE HIGH BUILD WATERBORNE	Material		8	Nov 1, 2023	SYSTEM	\$4,092.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user degrow1 overridding Payment Estimate Exception 36 on the current Payment Estimate.						
		PAINT			8	Nov 1, 2023	SYSTEM	(\$4,092.00)							
					9	Nov 15, 2023	SYSTEM	\$4,092.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user degrow1 overridding Payment Estimate Exception 39 on the current Payment Estimate.						
					9	Nov 15, 2023	SYSTEM	(\$4,092.00)							
				- Total				\$0.00							
			Material - To	tal				\$0.00							
	0190 -	Total						\$0.00							
	0220	SEEDING - COOL SEASON GRASSES	Material		4	Sep 1, 2023	SYSTEM	\$4,416.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.						
					4	Sep 1, 2023	SYSTEM	(\$4,416.00)							
					5	Sep 15, 2023	SYSTEM	\$4,416.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.						



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J3P3168	0220	SEEDING - COOL SEASON	Material		5	Sep 15, 2023	SYSTEM	(\$4,416.00)	
		GRASSES			6	Sep 30, 2023	SYSTEM	\$4,416.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					6	Sep 30, 2023	SYSTEM	(\$4,416.00)	
					7	Oct 16, 2023	SYSTEM	\$4,416.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user degrow1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$4,416.00)	
					8	Nov 1, 2023	SYSTEM	\$4,416.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user degrow1 overridding Payment Estimate Exception 38 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$4,416.00)	
					9	Nov 15, 2023	SYSTEM	\$4,416.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0035) due to user degrow1 overridding Payment Estimate Exception 41 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$4,416.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
		· Total			-			\$0.00	
	0240	SILT FENCE	Material		2	Aug 2, 2023	SYSTEM	\$12,008.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					2	Aug 2, 2023	SYSTEM	(\$12,008.70)	
					3	Aug 16, 2023	SYSTEM	\$12,008.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					3	Aug 16, 2023	SYSTEM	(\$12,008.70)	
					4	Sep 1, 2023	SYSTEM	\$12,008.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					4	Sep 1, 2023	SYSTEM	(\$12,008.70)	
					5	Sep 15, 2023	SYSTEM	\$12,008.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user degrow1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					5	Sep 15, 2023	SYSTEM	(\$12,008.70)	
					6	Sep 30, 2023	SYSTEM	\$12,008.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user degrow1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					6	Sep 30, 2023	SYSTEM	(\$12,008.70)	
					7	Oct 16, 2023	SYSTEM	\$12,008.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user degrow1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$12,008.70)	
					8	Nov 1, 2023	SYSTEM	\$12,008.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user degrow1 overridding Payment Estimate Exception 42 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$12,008.70)	
					9	Nov 15, 2023	SYSTEM	\$12,008.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0036) due to user degrow1 overridding Payment Estimate Exception 45 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$12,008.70)	
				- Total				\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
J3P3168	0240	SILT FENCE	Material - Tot	al				\$0.00			
	0240 -							\$0.00			
	0260	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile		3	Aug 16, 2023	SYSTEM	(\$17,584.14)	Payment Estimate Item Adjustment generated Stockpile Transaction		
					4	Sep 1, 2023	SYSTEM	(\$14,418.99)	Payment Estimate Item Adjustment generated Stockpile Transaction		
				- Total				(\$32,003.13)			
			Construction	Stockpile - 1	otal			(\$32,003.13)			
			Construction Stockpile STMI		2	Aug 2, 2023	SYSTEM	\$32,003.13	Payment Estimate Item Adjustment generated Stockpile Transaction		
			OTIVII	- Total				\$32,003.13			
			Construction	Stockpile S	ГМI - Total			\$32,003.13			
			Material		3	Aug 16, 2023	SYSTEM	\$32,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.		
					3	Aug 16, 2023	SYSTEM	(\$32,400.00)			
					4	Sep 1, 2023	SYSTEM	\$58,968.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		
					4	Sep 1, 2023	SYSTEM	(\$58,968.00)			
					5	Sep 15, 2023	SYSTEM	\$58,968.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		
						5	Sep 15, 2023	SYSTEM	(\$58,968.00)		
					6	Sep 30, 2023	SYSTEM	\$58,968.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		
					6	Sep 30, 2023	SYSTEM	(\$58,968.00)			
					7	Oct 16, 2023	SYSTEM	\$58,968.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		
							7	Oct 16, 2023	SYSTEM	(\$58,968.00)	
					8	Nov 1, 2023	SYSTEM	\$58,968.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.		
					8	Nov 1, 2023	SYSTEM	(\$58,968.00)			
					9	Nov 15, 2023	SYSTEM	\$58,968.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0037) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.		
					9	Nov 15, 2023	SYSTEM	(\$58,968.00)			
				- Total				\$0.00			
			Material - Tot	al				\$0.00			
	0260 -	Total						\$0.00			
	0270	TYPE A CRASHWORTHY	Construction Stockpile		3	Aug 16, 2023	SYSTEM	(\$3,849.81)	Payment Estimate Item Adjustment generated Stockpile Transaction		
		END TERMINAL (MASH)			4	Sep 1, 2023	SYSTEM	(\$3,850.19)	Payment Estimate Item Adjustment generated Stockpile Transaction		
				- Total				(\$7,700.00)			
			Construction	Stockpile - 1	Total			(\$7,700.00)			
			Construction Stockpile		2	Aug 2, 2023	SYSTEM	\$7,700.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
			STMI	- Total				\$7,700.00			
			Construction	Stockpile S	ΓΜΙ - Total			\$7,700.00			
		_	Material		3	Aug 16, 2023	SYSTEM	\$7,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks																
J3P3168	0270	TYPE A CRASHWORTHY	Material		3	Aug 16, 2023	SYSTEM	(\$7,300.00)																	
		END TERMINAL (MASH)		- Total				\$0.00																	
			Material - To	tal				\$0.00																	
	0270 -	Total						\$0.00																	
	0290	2 IN. PSST POST - 12 GA.	Material		4	Sep 1, 2023	SYSTEM	\$335.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user degrow1 overridding Payment Estimate Exception 18 on the current Payment Estimate.																
					4	Sep 1, 2023	SYSTEM	(\$335.50)																	
					5	Sep 15, 2023	SYSTEM	\$335.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user degrow1 overridding Payment Estimate Exception 22 on the current Payment Estimate.																
					5	Sep 15, 2023	SYSTEM	(\$335.50)																	
					6	Sep 30, 2023	SYSTEM	\$335.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user degrow1 overridding Payment Estimate Exception 22 on the current Payment Estimate.																
					6	Sep 30, 2023	SYSTEM	(\$335.50)																	
					7	Oct 16, 2023	SYSTEM	\$335.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user degrow1 overridding Payment Estimate Exception 24 on the current Payment Estimate.																
					7	Oct 16, 2023	SYSTEM	(\$335.50)																	
						8	Nov 1, 2023	SYSTEM	\$335.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0035) due to user degrow1 overridding Payment Estimate Exception 43 on the current Payment Estimate.															
					8	Nov 1, 2023	SYSTEM	(\$335.50)																	
					9	Nov 15, 2023	SYSTEM	\$335.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0038) due to user degrow1 overridding Payment Estimate Exception 46 on the current Payment Estimate.																
					9	Nov 15, 2023	SYSTEM	(\$335.50)																	
				- Total				\$0.00																	
			Material - To	tal				\$0.00																	
	0290 -	Total						\$0.00																	
	0310	MISC.	Material		4	Sep 1, 2023	SYSTEM	\$386.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user degrow1 overridding Payment Estimate Exception 19 on the current Payment Estimate.																
					4	Sep 1, 2023	SYSTEM	(\$386.00)																	
					5	Sep 15, 2023	SYSTEM	\$386.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user degrow1 overridding Payment Estimate Exception 23 on the current Payment Estimate.																
																					5	Sep 15, 2023	SYSTEM	(\$386.00)	
			_				6		ε											6	Sep 30, 2023	SYSTEM	\$386.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user degrow1 overridding Payment Estimate Exception 23 on the current Payment Estimate.	
													6	Sep 30, 2023	SYSTEM	(\$386.00)									
																						7	Oct 16, 2023	SYSTEM	\$386.00
					7	Oct 16, 2023	SYSTEM	(\$386.00)																	
				8	8	8	1	8	8	8		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0036) due to user degrow1 overridding Payment Estimate Exception 44 on the current Payment Estimate.													
				Nov 1, 2023	SYSTEM	(\$386.00)																			
					9	Nov 15, 2023	SYSTEM	\$386.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0039) due to user degrow1 overridding Payment Estimate Exception 47 on the current Payment Estimate.																



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J3P3168	0310	MISC.	Material		9	Nov 15, 2023	SYSTEM	(\$386.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0310 -	Total						\$0.00	
J3P3168 -	Total							\$0.00	
J3P3182	0380	TACK COAT	Material		3	Aug 16, 2023	SYSTEM	\$1,827.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Aug 16, 2023	SYSTEM	(\$1,827.00)	
					4	Sep 1, 2023	SYSTEM	\$1,827.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	Sep 1, 2023	SYSTEM	(\$1,827.00)	
					5	Sep 15, 2023	SYSTEM	\$1,827.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	Sep 15, 2023	SYSTEM	(\$1,827.00)	
					6	Sep 30, 2023	SYSTEM	\$23,274.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Sep 30, 2023	SYSTEM	(\$23,274.00)	
					7	Oct 16, 2023	SYSTEM	\$24,876.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$24,876.00)	
					8	Nov 1, 2023	SYSTEM	\$24,876.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$24,876.00)	
					9	Nov 15, 2023	SYSTEM	\$24,876.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$24,876.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0380 -	Total						\$0.00	
	0390	CONCRETE CURB RAMP	Material		9	Nov 15, 2023	SYSTEM	\$4,726.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$4,726.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0390 -	Total						\$0.00	
	0400	CONCRETE SIDEWALK, 4 IN.	Material		9	Nov 15, 2023	SYSTEM	\$14,276.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$14,276.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0400 -	Total						\$0.00	
	0410	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	Material		8	Nov 1, 2023	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks																					
J3P3182	0410	TRUCK OR TRAILER	Material		8	Nov 1, 2023	SYSTEM	(\$4,000.00)																						
		MOUNTED ATTEN (TMA)			9	Nov 15, 2023	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.																					
					9	Nov 15, 2023	SYSTEM	(\$4,000.00)																						
				- Total				\$0.00																						
			Material - To	tal				\$0.00																						
	0410 -	Total						\$0.00																						
	0420	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		5	Sep 15, 2023	SYSTEM	\$176,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate.																					
					5	Sep 15, 2023	SYSTEM	(\$176,000.00)																						
					6	Sep 30, 2023	SYSTEM	\$176,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate.																					
					6	Sep 30, 2023	SYSTEM	(\$176,000.00)																						
					7	Oct 16, 2023	SYSTEM	\$176,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.																					
					7	Oct 16, 2023	SYSTEM	(\$176,000.00)																						
					8	Nov 1, 2023	SYSTEM	\$176,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.																					
														8		8	Nov 1, 2023	SYSTEM	(\$176,000.00)											
					9	Nov 15, 2023	SYSTEM	\$176,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.																					
						Nov 15, 2023	SYSTEM	(\$176,000.00)																						
				- Total				\$0.00																						
			Material - To	tal				\$0.00																						
	0420 -	Total						\$0.00																						
	0460	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		5	Sep 15, 2023	SYSTEM	\$2,832.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.																					
		INOT			6	5	Sep 15, 2023	SYSTEM	(\$2,832.00)																					
																						6	Sep 30, 2023	SYSTEM	\$3,440.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.				
																							6	Sep 30, 2023	SYSTEM	(\$3,440.00)				
			7										7	7	7	7 8	7 8	7	7 8	7	Oct 16, 2023	SYSTEM	\$3,440.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.						
																					8					7	Oct 16, 2023	SYSTEM	(\$3,440.00)	
																						8	Nov 1, 2023	SYSTEM	\$3,440.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.				
					8	Nov 1, 2023	SYSTEM	(\$3,440.00)																						
					9		9	5	9	9	Nov 15, 2023	SYSTEM	\$3,440.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.																
							9	Nov 15, 2023	SYSTEM	(\$3,440.00)																				
				- Total				\$0.00																						
			Material - To	tal				\$0.00																						



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks										
J3P3182	0460 -	· Total						\$0.00											
	0490	MANHOLE FRAME AND COVER, TYPE 3	Material		9	Nov 15, 2023	SYSTEM	\$2,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 15 on the current Payment Estimate.										
					9	Nov 15, 2023	SYSTEM	(\$2,300.00)											
				- Total				\$0.00											
			Material - To	tal				\$0.00											
	0490 -	Total						\$0.00											
	0500	CONSTRUCTION SIGNS	Material		2	Aug 2, 2023	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					2	Aug 2, 2023	SYSTEM	(\$2,350.00)											
						3	Aug 16, 2023	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.									
								3	Aug 16, 2023	SYSTEM	(\$2,350.00)								
					4	Sep 1, 2023	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate.										
										4	Sep 1, 2023	SYSTEM	(\$2,350.00)						
						5	Sep 15, 2023	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.									
															Ę	5	Sep 15, 2023	SYSTEM	(\$2,350.00)
						6	6	Sep 30, 2023	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.								
														6	Sep 30, 2023	SYSTEM	(\$2,350.00)		
					7	Oct 16, 2023	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.										
										7	Oct 16, 2023	SYSTEM	(\$2,350.00)						
					8	Nov 1, 2023	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.										
					8	Nov 1, 2023	SYSTEM	(\$2,350.00)											
						Nov 15, 2023	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate.										
						9	Nov 15, 2023	SYSTEM	(\$2,350.00)										
				- Total				\$0.00											
			Material - To	tal				\$0.00											
	0500 -	· Total						\$0.00											
	0510	ADVANCED WARNING RAIL SYSTEM	Material		2	Aug 2, 2023	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
			2	2	2					2	2	2	Aug 2, 2023	SYSTEM	(\$100.00)				
				3 2	3	3	3	Aug 16, 2023	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate.								
					Aug 16, 2023	SYSTEM	(\$100.00)												
					4	Sep 1, 2023	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.										



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J3P3182	0510	ADVANCED WARNING RAIL	Material		4	Sep 1, 2023	SYSTEM	(\$100.00)	
		SYSTEM			5	Sep 15, 2023	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					5	Sep 15, 2023	SYSTEM	(\$100.00)	
					6	Sep 30, 2023	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					6	Sep 30, 2023	SYSTEM	(\$100.00)	
					7	Oct 16, 2023	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$100.00)	
					8	Nov 1, 2023	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$100.00)	
					9	Nov 15, 2023	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$100.00)	
				- Total				\$0.00	
			Material - Total				\$0.00		
	0510 -						\$0.00		
	0520	CHANNELIZER (TRIM LINE)	Material		5	Sep 15, 2023	SYSTEM	\$3,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					5	Sep 15, 2023	SYSTEM	(\$3,900.00)	
					6	Sep 30, 2023	SYSTEM	\$3,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					6	Sep 30, 2023	SYSTEM	(\$3,900.00)	
					7	Oct 16, 2023	SYSTEM	\$3,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$3,900.00)	
					8	Nov 1, 2023	SYSTEM	\$3,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$3,900.00)	
					9	Nov 15, 2023	SYSTEM	\$3,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user degrow1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$3,900.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0520 -				_		0) (0)	\$0.00	
	0530	TYPE III MOVEABLE BARRICADE	Material		5	Sep 15, 2023	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					5	Sep 15, 2023	SYSTEM	(\$1,920.00)	
					6	Sep 30, 2023	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.



	Line	D	A -11	041	F-4	0	0	Δ	D
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J3P3182	0530	TYPE III MOVEABLE	Material		6	Sep 30, 2023	SYSTEM	(\$1,920.00)	
		BARRICADE			7	Oct 16, 2023	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$1,920.00)	
					8	Nov 1, 2023	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$1,920.00)	
					9	Nov 15, 2023	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$1,920.00)	
				- Total				\$0.00	
			Material - To					\$0.00	
	0530 -	- Total						\$0.00	
	0540	FLASHING ARROW PANEL	Material		8	Nov 1, 2023	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$2,200.00)	
					9	Nov 15, 2023	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$2,200.00)	
				- Total				\$0.00	
			- Total Material - Total					\$0.00	
	0540 -	- Total						\$0.00	
	0540 - 0550	CMS W/O COMMUNICATION INTERFACE,	Material		1	Jul 17, 2023	SYSTEM	\$0.00 \$6,630.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		CMS W/O COMMUNICATION	Material		1		SYSTEM SYSTEM		Estimate Item Adjustment (0001) due to user degrow1 overridding Payment
		CMS W/O COMMUNICATION INTERFACE,	Material			2023 Jul 17,		\$6,630.00	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment
		CMS W/O COMMUNICATION INTERFACE,	Material		1	2023 Jul 17, 2023 Aug 2,	SYSTEM	\$6,630.00 (\$6,630.00)	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment
		CMS W/O COMMUNICATION INTERFACE,	Material		1 2	Jul 17, 2023 Aug 2, 2023	SYSTEM SYSTEM	\$6,630.00 (\$6,630.00) \$6,630.00	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment
		CMS W/O COMMUNICATION INTERFACE,	Material		1 2 2	2023 Jul 17, 2023 Aug 2, 2023 Aug 2, 2023 Aug 16,	SYSTEM SYSTEM SYSTEM	\$6,630.00 (\$6,630.00) \$6,630.00 (\$6,630.00)	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment
		CMS W/O COMMUNICATION INTERFACE,	Material		1 2 2 3	2023 Jul 17, 2023 Aug 2, 2023 Aug 2, 2023 Aug 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	\$6,630.00 (\$6,630.00) \$6,630.00 (\$6,630.00) \$6,630.00	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment
		CMS W/O COMMUNICATION INTERFACE,	Material		1 2 2 3 3 3	2023 Jul 17, 2023 Aug 2, 2023 Aug 16, 2023 Aug 16, 2023 Sep 1,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$6,630.00 (\$6,630.00) \$6,630.00 (\$6,630.00) \$6,630.00	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment
		CMS W/O COMMUNICATION INTERFACE,	Material		1 2 2 3 3 4	2023 Jul 17, 2023 Aug 2, 2023 Aug 16, 2023 Aug 16, 2023 Sep 1, 2023 Sep 1,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$6,630.00 (\$6,630.00) \$6,630.00 (\$6,630.00) (\$6,630.00) \$6,630.00	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment
		CMS W/O COMMUNICATION INTERFACE,	Material		1 2 2 3 3 4 4 4	2023 Jul 17, 2023 Aug 2, 2023 Aug 16, 2023 Aug 16, 2023 Sep 1, 2023 Sep 1, 2023 Sep 15, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$6,630.00 (\$6,630.00) \$6,630.00 (\$6,630.00) (\$6,630.00) \$6,630.00 (\$6,630.00)	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 11 on the current Payment Estimate.
		CMS W/O COMMUNICATION INTERFACE,	Material		1 2 2 3 3 4 4 5 5	2023 Jul 17, 2023 Aug 2, 2023 Aug 16, 2023 Aug 16, 2023 Sep 1, 2023 Sep 1, 2023 Sep 15, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$6,630.00 (\$6,630.00) \$6,630.00 (\$6,630.00) \$6,630.00 (\$6,630.00) (\$6,630.00) \$6,630.00	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 11 on the current Payment Estimate.
		CMS W/O COMMUNICATION INTERFACE,	Material		1 2 2 3 3 4 4 5 5 5	2023 Jul 17, 2023 Aug 2, 2023 Aug 16, 2023 Aug 16, 2023 Sep 1, 2023 Sep 1, 2023 Sep 15, 2023 Sep 15, 2023	SYSTEM	\$6,630.00 (\$6,630.00) \$6,630.00 (\$6,630.00) (\$6,630.00) (\$6,630.00) (\$6,630.00) (\$6,630.00)	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 15 on the current Payment Estimate.



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
82	0550	CMS W/O COMMUNICATION	Material		7	Oct 16, 2023	SYSTEM	(\$6,630.00)	
		INTERFACE, CONT F/			8	Nov 1, 2023	SYSTEM	\$6,630.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user degrow1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$6,630.00)	
					9	Nov 15, 2023	SYSTEM	\$6,630.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user degrow1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$6,630.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0550 -						01/0==1/	\$0.00	
	0560	TEMPORARY LONG-TERM RUMBLE STRIPS	Material		2	Aug 2, 2023	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					2	Aug 2, 2023	SYSTEM	(\$5,300.00)	
					3	Aug 16, 2023	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					3	Aug 16, 2023	SYSTEM	(\$5,300.00)	
					4	Sep 1, 2023	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					4	Sep 1, 2023	SYSTEM	(\$5,300.00)	
					5	Sep 15, 2023	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					5	Sep 15, 2023	SYSTEM	(\$5,300.00)	
					6	Sep 30, 2023	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					6	Sep 30, 2023	SYSTEM	(\$5,300.00)	
					7	Oct 16, 2023	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$5,300.00)	
					8	Nov 1, 2023	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$5,300.00)	
					9	Nov 15, 2023	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$5,300.00)	
				- Total				\$0.00	
	0.00		Material - To	tal				\$0.00	
	0560 -		Material		0	Mari 4	0)/07511	\$0.00	This adjustment offsets the existence of the second
	0600	PREF THERMO PVMT MARK, 24 IN WHIT	Material		8	Nov 1, 2023	SYSTEM	\$5,148.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$5,148.00)	
					9	Nov 15, 2023	SYSTEM	\$6,336.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment Estimate Exception 25 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
3P3182	0600	PREF THERMO PVMT MARK, 24 IN WHIT	Material		9	Nov 15, 2023	SYSTEM	(\$6,336.00)			
		IIV VVIIII		- Total				\$0.00			
			Material - To	tal				\$0.00			
	0600 -	Total						\$0.00			
	0610	PREF THERMO PVMT MARK, 24 IN YELLOW	Material		8	Nov 1, 2023	SYSTEM	\$16,219.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user degrow1 overridding Payment Estimate Exception 24 on the current Payment Estimate.		
					8	Nov 1, 2023	SYSTEM	(\$16,219.00)			
					9	Nov 15, 2023	SYSTEM	\$16,219.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user degrow1 overridding Payment Estimate Exception 27 on the current Payment Estimate.		
					9	Nov 15, 2023	SYSTEM	(\$16,219.00)			
				- Total				\$0.00			
			Material - To	tal				\$0.00			
	0610 -	Total						\$0.00			
	0620	PREF THERMO PVMT MARK, LT/RT ARROW	Material		8	Nov 1, 2023	SYSTEM	\$8,680.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 26 on the current Payment Estimate.		
					8	Nov 1, 2023	SYSTEM	(\$8,680.00)			
							9	9	Nov 15, 2023	SYSTEM	\$8,680.00
					9	Nov 15, 2023	SYSTEM	(\$8,680.00)			
			- Total Material - Total					\$0.00			
			Material - Total					\$0.00			
	0620 -	Total						\$0.00			
	0630	PREF THERMO PVMT MRKG, STRIAGHT ARROW	Material		8	Nov 1, 2023	SYSTEM	\$1,104.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment Estimate Exception 28 on the current Payment Estimate.		
		ANTOW		9	8	Nov 1, 2023	SYSTEM	(\$1,104.00)			
					9	Nov 15, 2023	SYSTEM	\$1,104.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user degrow1 overridding Payment Estimate Exception 31 on the current Payment Estimate.		
					9	Nov 15, 2023	SYSTEM	(\$1,104.00)			
				- Total				\$0.00			
			Material - To	tal				\$0.00			
	0630 -	Total						\$0.00			
	0640	PREF THERMO PVMT MARK, YIELD TRIAN	Material		8	Nov 1, 2023	SYSTEM	\$1,494.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user degrow1 overridding Payment Estimate Exception 29 on the current Payment Estimate.		
			8	8	Nov 1, 2023	SYSTEM	(\$1,494.00)				
						Nov 15, 2023	SYSTEM	\$1,494.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user degrow1 overridding Payment Estimate Exception 32 on the current Payment Estimate.		
					9	Nov 15, 2023	SYSTEM	(\$1,494.00)			
				- Total				\$0.00			
			Material - To					\$0.00			
	0640 -	Total						\$0.00			
	0650	4 IN. YELLOW HIGH BUILD	4 IN. YELLOW Material		8	Nov 1, 2023	SYSTEM	\$4,705.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user degrow1 overridding Payment		
		WATERBORNE				2023			Estimate Exception 30 on the current Payment Estimate.		
					8	Nov 1, 2023	SYSTEM	(\$4,705.20)			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J3P3182	0650	4 IN. YELLOW HIGH BUILD	Material			2023			Estimate Item Adjustment (0020) due to user degrow1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
		WATERBORNE PAINT			9	Nov 15, 2023	SYSTEM	(\$4,705.20)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0650 -	Total						\$0.00	
	0660	6 IN. WHITE HIGH BUILD WATERBORNE	Material		8	Nov 1, 2023	SYSTEM	\$9,502.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user degrow1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
		PAINT			8	Nov 1, 2023	SYSTEM	(\$9,502.12)	
					9	Nov 15, 2023	SYSTEM	\$9,502.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user degrow1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$9,502.12)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0660 -	Total						\$0.00	
	0730	CURB INLET CHECK	Material		2	Aug 2, 2023	SYSTEM	\$331.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					2	Aug 2, 2023	SYSTEM	(\$331.00)	
					3	Aug 16, 2023	SYSTEM	\$331.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					3	Aug 16, 2023	SYSTEM	(\$331.00)	
					4	Sep 1, 2023	SYSTEM	\$331.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					4	Sep 1, 2023	SYSTEM	(\$331.00)	
					5	Sep 15, 2023	SYSTEM	\$331.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user degrow1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					5	Sep 15, 2023	SYSTEM	(\$331.00)	
					6	Sep 30, 2023	SYSTEM	\$331.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					6	Sep 30, 2023	SYSTEM	(\$331.00)	
					7	Oct 16, 2023	SYSTEM	\$331.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user degrow1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$331.00)	
					8	Nov 1, 2023	SYSTEM	\$331.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user degrow1 overridding Payment Estimate Exception 40 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$331.00)	
					9	Nov 15, 2023	SYSTEM	\$331.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user degrow1 overridding Payment Estimate Exception 43 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$331.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0730 -	Total						\$0.00	
	0750	SILT FENCE	Material		2	Aug 2, 2023	SYSTEM	\$962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks									
J3P3182	0750	SILT FENCE	Material						Estimate Exception 6 on the current Payment Estimate.									
					2	Aug 2, 2023	SYSTEM	(\$962.50)										
					3	Aug 16, 2023	SYSTEM	\$962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.									
					3	Aug 16, 2023	SYSTEM	(\$962.50)										
					4	Sep 1, 2023	SYSTEM	\$962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate.									
					4	Sep 1, 2023	SYSTEM	(\$962.50)										
					5	Sep 15, 2023	SYSTEM	\$962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 20 on the current Payment Estimate.									
					5	Sep 15, 2023	SYSTEM	(\$962.50)										
					6	Sep 30, 2023	SYSTEM	\$962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user degrow1 overridding Payment Estimate Exception 20 on the current Payment Estimate.									
								6	Sep 30, 2023	SYSTEM	(\$962.50)							
					7	Oct 16, 2023	SYSTEM	\$962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 22 on the current Payment Estimate.									
					7	Oct 16, 2023	SYSTEM	(\$962.50)										
					8	Nov 1, 2023	SYSTEM	\$962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user degrow1 overridding Payment Estimate Exception 41 on the current Payment Estimate.									
														8	Nov 1, 2023	SYSTEM	(\$962.50)	
					9	Nov 15, 2023	SYSTEM	\$962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user degrow1 overridding Payment Estimate Exception 44 on the current Payment Estimate.									
					9	Nov 15, 2023	SYSTEM	(\$962.50)										
				- Total				\$0.00										
			Material - To	tal				\$0.00										
	0750 -	Total						\$0.00										
	0760	MGS GUARDRAIL	Construction Stockpile		4	Sep 1, 2023	SYSTEM	(\$35,938.96)	Payment Estimate Item Adjustment generated Stockpile Transaction									
					6	Sep 30, 2023	SYSTEM	(\$1,197.04)	Payment Estimate Item Adjustment generated Stockpile Transaction									
				- Total				(\$37,136.00)										
			Construction	Stockpile - 1				(\$37,136.00)										
			Construction Stockpile STMI		2	Aug 2, 2023	SYSTEM	\$37,136.00	Payment Estimate Item Adjustment generated Stockpile Transaction									
				- Total				\$37,136.00										
			Construction	Stockpile ST	「MI - Total			\$37,136.00										
		Material	Material		4	Sep 1, 2023	SYSTEM	\$64,721.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.									
					4	Sep 1, 2023	SYSTEM	(\$64,721.60)										
				5		5	Sep 15, 2023	SYSTEM	\$64,721.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.								
						5	5	Sep 15, 2023	SYSTEM	(\$64,721.60)								
					6	Sep 30, 2023	SYSTEM	\$93,875.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.									
					6	Sep 30,	SYSTEM	(\$93,875.20)										





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J3P3182	0760	MGS GUARDRAIL	Material			2023			
					7	Oct 16, 2023	SYSTEM	\$93,875.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	Oct 16, 2023	SYSTEM	(\$93,875.20)	
					8	Nov 1, 2023	SYSTEM	\$93,875.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Nov 1, 2023	SYSTEM	(\$93,875.20)	
					9	Nov 15, 2023	SYSTEM	\$93,875.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Nov 15, 2023	SYSTEM	(\$93,875.20)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0760 -	Total						\$0.00	
J3P3182	- Total							\$0.00	
Overall -	Total							\$0.00	



Contract Adjustments for Contract - 230421-C09

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
7	J3P3168	Other Contract Adjustment	SPAD	\$9,235.58	25.61287733	Oct 16, 2023	degrow1	Line # 0360: Lot 1 = \$36,058.33
	J3P3182	Other Contract Adjustment	SPAD	\$26,822.75	74.38712267	Oct 16, 2023	degrow1	Line # 0360: Lot 1 = \$36,058.33
7 - Total					\$36,058.33			
9	J3P3168	Other Contract Adjustment	ABIR	\$4,642.43	25.35987904	Nov 15, 2023	degrow1	IRI Summary Worksheets saved to eProjects.
	J3P3182	Other Contract Adjustment	ABIR	\$13,663.78	74.64012096	Nov 15, 2023	degrow1	IRI Summary Worksheets saved to eProjects.
9 - Total					\$18,306.21			
Overall - Total					\$54,364.54			

Revision 3/23/2023 Page 31 of 31